


What’s this?

It’s a 
hat.

Whose hat is this?

It’s 
Tom’s.

To
m



Whose dress is this?

It’s 
Ann’s.

Whose skirt is this?
It’s Amy’s.

Ann

Amy

What’s this?

It’s a dress.

What’s this?
It’s a dress.



It’s 
Ben’s.

It’s John’s.

Whose shirt is this?

Whose T- shirt is this?

Ben John

What’s this?
It’s a shirt.

What’s this?
It’s a 
T-shirt.



What are these?
They are shoes.

Whose shoes are these?
They’re 
Sarah’s.
What is this?
It’s a scarf.

Whose scarf is this?
It’s 
Kate’s.

Sarah

Kate



*Притяжательный 
падеж имён 
существительных
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  This is Ted’s 
sister

Te
d 

sister



brother 
Mary

This is Mary’s 
brother



Bob 
mother

This is Bob’s mother



a sister 
Jill 

This is Jill’s 
sister



Dasha 

 

This is Dasha’s  
father

father



Ann a friend

This is Ann’s friend 



Vera 

a ball 

This is Vera’s ball 



Ben 

a pencil

  
 This is Ben’s pencil



Ann Mary

Sally

To
m

Ben



Jill

Jim

Greg

Helen

Mary



закрытый тип открытый тип

Гласная буква            читается по-разному:

rosedog

Oo




